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RS1 = RSCO1*¥((1e/12¢)*RT*¥RST1=-RST2)
RSCO2 = (2e¢/34)*STRO

RST3 = T7e*A1l*(RT/ZEKE-0e5%BOY3%BALLS4)
BOY8 = le/(2e*(ALPHT*GAMT )#%0e25)
RST4 = (9«*A2*¥HC*HC+3e *A3)*¥BOY8*BALLSG

RS2 = RSCO2%*(RST3-RST4)
RSCO3 = COEF3/F

RST5 = GRE6%*RST3/(7e%*A1)
RST6 = GRE7*BOYS8*BALL4

RST7 = RT*((GRE6*RT*RT-GRE7)/EPSIT)
RS3 = RSCO3*(RST5+RST6-RST7)

RS4 = (le/3e)%¥BXRTHRT*RT* (4e*¥A1+A2)

RST8 = (2e/3¢)*¥A1#B¥RT*¥RT=A2¥B*¥RTHRT+2 ¢ *¥A3*¥B+PT

RS5 = (RST8+6¢*A2%B*#HC*HC ) #RT

RS6 = SIDER/(F*RT)

RSIDE = RS1-RS2+RS3=RS4-RS5-RS6

DELT1 = 2e%((HO=HT)=((1le=UNU)/G)*RSIDE)
DELT2 = ABS(DELT1)

IF(DELT2+DELT1)1s76s75
DELT3 = ABS(DELTA)
IF(DELT3+DELTA) 171672
DELTS5 = DELT1-DFLTA
DELT4 = ABS(DELTHS)
IF(DELT4/DELTA-06401)90990s79
IF(DELT5)989904599
DELTA = DELTA+SAM

CuUP 0e25%CUP

GO TO 79

DELTA = DELTA-SAM

CUP = 0Qe25%CUP

GO TO 79

PRINTs DELTAs A2s A24,5 CUPs DELTS
PRINTs Als A2s A3s A24
PRINTs RCs RTs HCs HT
IF(DELT5)96990,497

SAM = CUP*DELTA

Y = Y+1oe

IF(X)1984+88

DELTA = DELTA-SAM
PRINTs DELTA

GO TO 10

FIG. 21 (CONTINUED)
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